Experiment | # final state | Ly [fb™!] Myop * (stat.) + (syst.) [GeV] | Total uncertainty on m, [GeV] ([%]) | Reference
I+jets 3.7 172.85 + 0.52 = 0.99 .12 (0.65) 8]
CDF dilepton 5.6 170.28 + 1.95 + 3.13 3.69 2.17) o
all jet 5.8 172.47 £ 1.43 = 1.41 2.01 (1.16) [110]
EMstjets 8.7 173.93 + 1.26 + 1.36 1.85  (1.07) I1]
DO [+jets 3.6 174.94 +0.83 + 1.25 1.50 (0.86) [12]
dilepton 53 174.00 + 2.36 = 1.49 279 (1.60) 113]
ATLAS [+jets 4.7 172.31 £0.23 + 1.53 1.55 (0.90) [14]
dilepton 4.7 173.09 + 0.64 + 1.50 1.63  (0.94) 115]
[+jets 4.9 173.49 + 0.27 + 1.03 1.06 (0.61) [1e6]
CMS dilepton 4.9 172.50 + 0.43 + 1.46 1.52  (0.88) [117)
all jet 35 173.49 + 0.69 + 1.23 1.41 (0.81) 18]




